dNaOH

dNaOH:=100 mg/L dNaOH:= =2.5 mmole/L

dNa,CO,:=300 mg/L  dNa,COj,:=

dNaHCO,:=200 mg/L  dNaHCO,:=

(23+16+1) gm/mole

dNa,CO,
(2.23+12+3-16) gm/mole

dNaHCO,
(23+1+12+3.16) gm/mole

2C:=dNaHCO3;+dNa,CO;=5.211 mmole/L

[Na']:=dNaHCO; + 2 - dNa,CO; +dNaOH = 10.541 mmole/L

K,:=10" (mole/L)’ K,:=4.3-10"" mole/L Ky:=4.4-10"" mole/L
) [H'] 1.641.107°
) [OHT] 1.443
3 [H,CO,] |:=| 5.05-107° | mmole/L
3
: [HCO;7] 1.323
) [COBZ—] 3888
- H*]-[HCO,~ H']-[CO5=
; K, =[H]-[0H] K1=[ 1-[HCO3] K2=[ 1-[ s ]
3 [H,CO4 [HCO4T]
b
; [H']+[Na']=[OH]+[HCO; ]+ 2+ [CO47]
2
; [H,CO3] +[HCO; ]+ [CO47]=32C
J
[ [H] 9.543.10°°
3| [OHT 1.048
2l | H,CO4] | =Find ([H"],[OH7,[H,CO4], [HCO;],[CO47]) = | 2.061-10° | mmole/L
3| [ [HCO4T] 0.929
J
5 [COBZ—] 4282
[H'] [OHT]
H:=—log|———|=11.02 OH:=—lo =298 H-+pOH =14
P g(mole/L P 9 mole/L PriTP

fH+1.TOH-1= ? (monb/n)? K.=? (monsu/n)?l

=2.83 mmole/L

=2.381 mmole/L




“— v

(H+)-HCO4]

=7 moms/n
[HoCO4
H+]- [CO4--
I 00 _, s
[HCO4-]

[H+]+[Na+]= ? Mmmonsb/n [OH-]+[HCO4-] +2+[CO4--]1= ? MMonb/n
3

[H,CO5] +[HCO;5-]+ [CO3--1 = ? Mmonb/n

EC =2 mMmonb/n




